(2)%(T2—2)

(FRL24%)
3 I3 = BAEHELTCE

e | e | B A | AR FEE nora | 20 | smims | spvese

mE | R | RUE | pow | 8| AT e e |0 sen

% % T
£ H 8.2 100] A17 2.2 10 23.4 10.8 12.6 40 32 08 53| 187
g B2 8.1 106| A25 16 0.8 211 105 10.6 42 36 0.6 47| 163
BRI 8.0 99| A19 2.2 1.1 225 12.2 10.5 5.0 39 1.1 47| 166
eV 9.1 8.6 0.6 - - 23.3 15.6 79 2.0 2.0 - 52 174
g 85 8.0 05 1.2 - 271 13.1 14.3 48 48 - 47| 161
IR EET 74 9.1 A17 16.1 16.1 15.9 15.9 - 15.9 - 15.9 6.6 0.96
= hn#r 8.8 101 A13 - - - - - - - - 38[ 1.08
JIAET 6.4 135 A70 14.9 14.9 - - - 14.7 - 14.7 45| 135
£oRET 2.1 165| Al144 - - - - - - - - 38 o071
UANED= i 58 16.9] A11.1 - - 145 - 145 - - - 36[ 137
=1L 5.3 189 A136 - - 20.4 - 20.4 - - - 36 1.32
REJIIF 5.7 19.7| A140 - - 66.7 66.7 - 66.7 66.7 - 2.1 3.29
15 BT 7.2 11.1]  A39 75 - 14.7 74 74 74 74 - 38| 269

<EZLEOEBFE>

HA SR - 3B - BER R =1 RO EH K 10A 1 BERAED AH X 1,000

BAENE=(1EEOHEH -1 FRDOETEH) ~10A1BIRAED AO x 1,000

EER(BARER ALRER)=FEBA- AL/ HE (HE+EE) # x 1,000
ARFETCERGFERECE - BEHRFERETR) = RETHEER - FHHERETH). 4% x 1,000
FERATE R =T IR 228 LUtk O SEE S+ B HAET A RSB T3 tH e (M 4 30+ 0T 8R 3782258 LA 1% D FE 2 $0 %k x 1,000
YRR 2258 LAt D FE E F = 3T 0RiE 2238 LG D SEEE SRt FE (B A 88+ 3R IR 22:8 LABE D SEAESR) x 1,000
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LERVROMERL. EEFBEAKIE,

<HHEHCRAL=ADOO#IE>
©E : TH24F1081 BREHSAD (RBEHHR)
I EE R UHEH - FR244E1081 BEEHIAD (R




